
5418 5418.5 5419 5419.5 5420
cyclenum

0.5−

0

0.5

1

1.5

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 6094}

5418 5418.5 5419 5419.5 5420
cyclenum

3.8−

3.6−

3.4−

3.2−

3−

2.8−

2.6−

2.4−

2.2−

2−

1.8−

1.6−

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 6094}

5418 5418.5 5419 5419.5 5420
cyclenum

2.5−

2−

1.5−

1−

0.5−

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 6094}

5418 5418.5 5419 5419.5 5420
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 6094}

5418 5418.5 5419 5419.5 5420
cyclenum

6092

6092.5

6093

6093.5

6094

6094.5

6095

6095.5

6096

ru
n

run:cyclenum {run == 6094}

5418 5418.5 5419 5419.5 5420
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 6094}



5418 5418.5 5419 5419.5 5420
cyclenum

77−

76.5−

76−

75.5−

75−us
l_

1X
usl_1X:cyclenum {run == 6094}

5418 5418.5 5419 5419.5 5420
cyclenum

2.6

2.8

3

3.2

3.4

3.6

3.8

4

4.2

4.4

4.6

4.8

us
l_

4a
Y

usl_4aY:cyclenum {run == 6094}

5418 5418.5 5419 5419.5 5420
cyclenum

44.5

45

45.5

46

46.5

us
l_

4e
X

usl_4eX:cyclenum {run == 6094}

5418 5418.5 5419 5419.5 5420
cyclenum

16

16.5

17

17.5

18

us
l_

4e
Y

usl_4eY:cyclenum {run == 6094}

5418 5418.5 5419 5419.5 5420
cyclenum

40.5−

40−

39.5−

39−

38.5−

us
l_

12
X

usl_12X:cyclenum {run == 6094}

5418 5418.5 5419 5419.5 5420
cyclenum

6092

6092.5

6093

6093.5

6094

6094.5

6095

6095.5

6096

ru
n

run:cyclenum {run == 6094}



5418 5418.5 5419 5419.5 5420
cyclenum

125−

124.5−

124−

123.5−

123−

us
r_

1X

usr_1X:cyclenum {run == 6094}

5418 5418.5 5419 5419.5 5420
cyclenum

6

6.5

7

7.5

8

us
r_

4a
Y

usr_4aY:cyclenum {run == 6094}

5418 5418.5 5419 5419.5 5420
cyclenum

216.2

216.4

216.6

216.8

217

217.2

217.4

217.6

217.8

218

218.2

218.4

us
r_

4e
X

usr_4eX:cyclenum {run == 6094}

5418 5418.5 5419 5419.5 5420
cyclenum

12

12.5

13

13.5

14

us
r_

4e
Y

usr_4eY:cyclenum {run == 6094}

5418 5418.5 5419 5419.5 5420
cyclenum

43.5−

43−

42.5−

42−

41.5−

us
r_

12
X

usr_12X:cyclenum {run == 6094}

5418 5418.5 5419 5419.5 5420
cyclenum

6092

6092.5

6093

6093.5

6094

6094.5

6095

6095.5

6096

ru
n

run:cyclenum {run == 6094}



5418 5418.5 5419 5419.5 5420
cyclenum

18441.5

18442

18442.5

18443

18443.5

us
l_

co
il1

usl_coil1:cyclenum {run == 6094}

5418 5418.5 5419 5419.5 5420
cyclenum

3018

3018.5

3019

3019.5

3020

us
l_

co
il3

usl_coil3:cyclenum {run == 6094}

5418 5418.5 5419 5419.5 5420
cyclenum

4546

4546.2

4546.4

4546.6

4546.8

4547

4547.2

4547.4

4547.6

4547.8

4548

4548.2

us
l_

co
il4

usl_coil4:cyclenum {run == 6094}

5418 5418.5 5419 5419.5 5420
cyclenum

219

219.5

220

220.5

221

us
l_

co
il6

usl_coil6:cyclenum {run == 6094}

5418 5418.5 5419 5419.5 5420
cyclenum

6392.5

6393

6393.5

6394

6394.5

us
l_

co
il7

usl_coil7:cyclenum {run == 6094}

5418 5418.5 5419 5419.5 5420
cyclenum

6092

6092.5

6093

6093.5

6094

6094.5

6095

6095.5

6096

ru
n

run:cyclenum {run == 6094}



5418 5418.5 5419 5419.5 5420
cyclenum

16030−

16029.5−

16029−

16028.5−

16028−

us
r_

co
il1

usr_coil1:cyclenum {run == 6094}

5418 5418.5 5419 5419.5 5420
cyclenum

2480.5−

2480−

2479.5−

2479−

2478.5−

us
r_

co
il3

usr_coil3:cyclenum {run == 6094}

5418 5418.5 5419 5419.5 5420
cyclenum

5251.5

5252

5252.5

5253

5253.5

us
r_

co
il4

usr_coil4:cyclenum {run == 6094}

5418 5418.5 5419 5419.5 5420
cyclenum

199

199.5

200

200.5

201

us
r_

co
il6

usr_coil6:cyclenum {run == 6094}

5418 5418.5 5419 5419.5 5420
cyclenum

34246.5

34247

34247.5

34248

34248.5

us
r_

co
il7

usr_coil7:cyclenum {run == 6094}

5418 5418.5 5419 5419.5 5420
cyclenum

6092

6092.5

6093

6093.5

6094

6094.5

6095

6095.5

6096

ru
n

run:cyclenum {run == 6094}



5418 5418.5 5419 5419.5 5420
cyclenum

291.8−

291.6−

291.4−

291.2−

291−

290.8−

290.6−

290.4−

290.2−

290−

289.8−

289.6−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 6094}

5418 5418.5 5419 5419.5 5420
cyclenum

20−

19.5−

19−

18.5−

18−1X
_c

oi
l3

1X_coil3:cyclenum {run == 6094}

5418 5418.5 5419 5419.5 5420
cyclenum

324.5

325

325.5

326

326.5

1X
_c

oi
l7

1X_coil7:cyclenum {run == 6094}

5418 5418.5 5419 5419.5 5420
cyclenum

287.5−

287−

286.5−

286−

285.5−4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 6094}

5418 5418.5 5419 5419.5 5420
cyclenum

39.8−

39.6−

39.4−

39.2−

39−

38.8−

38.6−

38.4−

38.2−

38−

37.8−

37.6−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 6094}

5418 5418.5 5419 5419.5 5420
cyclenum

244

244.5

245

245.5

246

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 6094}



5418 5418.5 5419 5419.5 5420
cyclenum

201

201.5

202

202.5

203

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 6094}

5418 5418.5 5419 5419.5 5420
cyclenum

72

72.5

73

73.5

74

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 6094}

5418 5418.5 5419 5419.5 5420
cyclenum

19−

18.5−

18−

17.5−

17−4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 6094}

5418 5418.5 5419 5419.5 5420
cyclenum

212

212.5

213

213.5

214

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 6094}

5418 5418.5 5419 5419.5 5420
cyclenum

19.6

19.8

20

20.2

20.4

20.6

20.8

21

21.2

21.4

21.6

21.8

4e
Y

_c
oi

l6
4eY_coil6:cyclenum {run == 6094}

5418 5418.5 5419 5419.5 5420
cyclenum

17−

16.5−

16−

15.5−

15−4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 6094}



5418 5418.5 5419 5419.5 5420
cyclenum

236−

235.5−

235−

234.5−

234−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 6094}

5418 5418.5 5419 5419.5 5420
cyclenum

83−

82.5−

82−

81.5−

81−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 6094}

5418 5418.5 5419 5419.5 5420
cyclenum

0.2

0.4

0.6

0.8

1

1.2

1.4

1.6

1.8

2

2.2

2.4

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 6094}

5418 5418.5 5419 5419.5 5420
cyclenum

6.6

6.8

7

7.2

7.4

7.6

7.8

8

8.2

8.4

8.6

8.8

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 6094}

5418 5418.5 5419 5419.5 5420
cyclenum

512.5−

512−

511.5−

511−

510.5−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 6094}

5418 5418.5 5419 5419.5 5420
cyclenum

6092

6092.5

6093

6093.5

6094

6094.5

6095

6095.5

6096

ru
n

run:cyclenum {run == 6094}
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